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Chapter 5 and 6 Review '
Graphing and Linear Relations ﬁ
Name:
Learning Goal Novice Apprentice | Expert

1. I'will be able to explain the relationships among data and graphs

\J

2. [ will be able to show an understanding of slope, lines, rate of

change, parallel lines, perpendicular lines

3. I'will be able to restrict domain and range

s The cost C, in dollars, of renting a hall for the prom is given by the formula C(n) =500+4n where nis the
number of students attending the prom. Calculate the cost of renting the hall if 70 students attend.

500+ H{10)
Cm, 500+ 7920
4307

B i S ¥) = x7 = x, find thevalueof f(-3):

fra= € 3)-(-3)
= Q43 =12
8. This graph shows the cost of a taxi ride. The cost, € dollars, and
the time of ride, T {min)

is a function of the duration of the ride, t min.

b. What is the duration of the ride when the cost is $35?
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5) Each point on this graph represents a person. Which two people are the same age?
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5)Joshua went on a bike ride. Write a statement that best describes what is Joshua's Bike Ride
happening for line segment DE in this graph?
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6) For each relation, create a table of values and then graph the relation.
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a) y=x+2 -2
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b) y=2x—6 1%
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1) What equation best represents the line on the graph?

____—-——t—\\
P 3 . .’
é' y=gx+2

B. ‘y;.?}—*x"«-’i = & ‘5\099

2) Determine the vertical and horizontal intercepts of this graph.

Vertical intercept(s) u = Z‘
tﬂa'rﬁmp@ J

Horizontal intercept(s) X - 3
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3) Graph and label thejaﬂr linear relations on the axes provided. State the slope of each line and the y-intercept.

inea)’y, =%y
s

Slope = _L.\.« y-intercept = \

Slope= -—5 y-intercept = "2_
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4} Calculate the slope of the line containing the following points.

a) (3, 8) &5, 3) b) (-4,4) &(-7,4)
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c) (-2,4} & (-2, 8)
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5) Determine the slope of the line that is perpendicular to this line segment.
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6) Aline has x-intercept =5 and y-intercept 1. Determine the slope of a line parallel to this line.

-5,0) ~ (0,1)
W\*a a = -0 _
X 05 9

7) Students at a Secondary School sell punch during the school carnival.
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¢ The number of cups sold, n, is a linear function of the temperature in degrees Celsius, t.
¢ The students sold 450 cups when the temperature was 25°C.

lndJQ-%

e They sold 550 cups when the temperature was 29°C.
a) Write an equation in slope-point form to represent this function. ’E%_ "{‘50
- , 29 550
*9’”53:25&“25 m" 2-U
Or 2 s
- _ — y —734 = 59 wo _ 25
) e:?r?ige the a%?ro imate temperature when the students selLSZS cugg)f punch.
~450 = 26(x-25) 4= 25115
-USD = 25— o
2SO 450 %2% 29x ’T‘ —;‘—.,55



8). Write an equation to describe the graph below.
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9) Write the equation of the line in slope-point form and general form using the information given

2
a. Aline that passes through (15, -7) with a slope of —
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b. Aline that passes through (6, 8) and perpendicular to y

n= 1
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Learning Goal #3: 1 will be abl ict domain and

1) Determine the range of the graph below. State in BOTH interval and set form.
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2) Determine the domain of the graph below. State in BOTH interval and set form.
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3) Determine the domain and range of this graph. State in BOTH interval and set form.
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